
                                                                          

            
 INSTALLATION INSTRUCTIONS 

  APLICATION� 92-98 JEEP GRAND CHEROKEE 
                             

TEL:1-866-XANATOS                                          
 
 
 
MOUNT KIT 

   B39 

 
 
 

QTY 
PARTS KIT CONTENTS 

DESCRIPTION 
TOOLS REQUIRED 

2 
2 
2 
4 
2 
4 

10 
6 
4 
4 
4 

MOUNT BRACKET 
ADAPTER BRACKET 
NUT PLATES (PASSENGER, DRIVER) 
M12×60N HEX BOLT 
M12×50 HEX BOLT 
M12 HEX NUT 
Φ12 SAE FLAT WASHERS 
Φ12 LOCK WAHERS 
M10×25 HEX BOLT 
Φ10 FLAT WASHER 
Φ10 SPLIT LOCK WAHSER 

13MM SOCKET 
15MM SOCKET 
18MM WRENCH 
9/16” SOCKET  
3/4”SOCKET 
3/4” WRENCH 
RATCHET 
3” EXTENSION 

STEP1:  REMOVE THE CONTENTS FROM THE BOX AND CHECK FOR ANY DAMAGE. VERIFY ALL 

PARTS AGAINST PARTS LIST. 

STEP2:  READ AND UNDERSTAND INSTRUCTIONS COMPLETELY BEFORE BEGINNING 

INSTALLATION.NOTE:IF YOUR VEHICLE IS EQUIPPED WITH FACTORY TOW HOOKS, YOU 

WILL NEED TO REMOVE THEM, LEAVING THEIR BRACKETS IN PLACE BEFORE 

PROCEEDING. 

STEP3: REMOVE HORNS ON PASSENGER SIDE USING 13 MM SOCKET. 

       VEHICLE WITHOUT TOW HOOKS 

STPE4: INSTALL BRACHETS USING M10 FASTENERS AND NUT PLATES AS SHOWN IN FIGURE 

1.2 AND 3.LEAVE LOOSE. (BEND NUT PLATES TO ACHIEVE PROPER ALIGNMENT WHEN 

PLACING INSIDE THE FRAME. NUT PLATES SHOULD LINE UP HOLES A AND B IN FRAME. 

SEE FIGURE 2 AND 3. PROCEED TO STEP 7. 

       VEHICLE WITH TOW HOOKS 

STEO5: INSTALL ADAPTER BRACKETS USING ORIGINAL FASTENERS. SEE FIGURE 4,5 AND 

6. 

STEP6: INSTALL TOW HOOKS AS SHOWN IN FIGURE 6. STRAIGHTEN TOW HOOKS (SEE STEP 

8). 

STEP7: MOUNT SAFARI BAR USING M12 FASTENERS AS SHOWN IN FIGURE 3 AND 4. 
STEP8: CENTER AND LEVEL SAFARI BAR.  TIGHTEN AND TORQUE FASTENERS AS LISTED. 

Page 1 of 2 



                                                                          

Page 2 of 2 

M12 FASTENERS TO 65FT.LBS, M10 –32 FT.LBS. 

STEP9: REPLACE HORNS. 


	  APLICATION： 92-98 JEEP GRAND CHEROKEE
	QTY
	TOOLS REQUIRED


